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Instructions ~
For the following questions answer them individually = \
Question 1 & ) )

sin @ 1+cos6 4 = 1
If 1+cosd + sind = v3,0° < § < 90°, then the value of (tan 6 + “lis:
A 243 Q

\ ——
B 3-v2 %
C 2+v3 V4
D 34+V2 &/
Answer: A

Question 2

P and Q are two points on the groun ither side of a pole. The angles of elevation of the top of the pole as observed from P and Q
are 60° and 30°, respectively and t @ between them is 84V/3 m. What is the height (in m) of the pole?
A 63 (7
B 735
C 525
D 60 O
Answer: (
Question 3

A man can row a distance of 900 metres against the stream in 12 minutes and returns to the starting point in 9 minutes. What is the
speed (in km/h) of the man in still water?

1
A 4>

1 (
| Y

\
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Question 4
Walking at 60% of his usual speed, a man reaches his destin&’ie\ our 40’‘minuteslate, His usual time (in hours) to reach the
—

destination is:

" \

c 33 f -

(¢}

o
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1
D 34 ( ( y
Answer: A \\:‘\,__ /f

Question 5

25 persons can complete a work'in 6 ,&Qs,_ They started the work. 10 persons left the work after x days. If the whole work was
completed in 80 days, then w Jétis t f val \Eﬁ'x ?

. -‘-\\.
c 12 )

D 15 "

Answer /

Question 6 \

A person covers 40% of the distance from A to B at 8 km/h, 40% of the remaining distance at 9 km/h and the rest at 12 km/h. His
average speed (in km/h) for the journey is:

/ =
. 4 4
D 93 / k //_\‘\
O

A :C '
nswer R y
\
"\ /’
SSC CHSL Previous Questlbn\\p%ers (download pdf)
Question 7 \
A sum is divided among A, B, C and D such that the ratio of thhe&\j/‘ dis2:3,thatof Band Cis 1:2 and thatof Cand D is 3
: 4. If the difference between the shares of A and is X648,then the sul heir shares is:
A %2052 Q |
B 32,160
=
C 32484 )
45
'y
D 1,944 ( (
/
Answer: A \ ,/j
\EVf >
Question 8

investment of C, If C’s share total profit is X4,863,then the share ofA in the profit is:

-~

A, B and C started a businessW he\nvestment of A is equalto twice the investment of B and also equal to four times the
of t

<
()
'\
A 37272 4
B %6484 ('7
) (‘\'5\"\»
\\:H\
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c 39726 X
o

’ 4

D 8,105

Answer:

Question 9

In a 100m race 64 A beats B by 10 mand B beats C by 10 m. By what distance does A beat C (in m)?

A 19 y

B 18

c 20 @& N

D 21 M/, g ~
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Question 10 \

If 24 4 22% + az? + bz + 9 is a perfect square, where a and b are positiv | numbers,then the value of a and b are

A a=5b=6
B a=6b=7 C:: q\fﬂ/,,7
C a=7,b=6 —

D a=7,b=8
Answer: C />

Question 11

If the selling price of an article is 32% more i t price and the discount offered on its marked price is 12%, then what is the
ratio of its cost price to the marked price?

A 4:5 /_\\
B 3:8 67/E2i:>
c 2:3 (?

D 1:2 Céiiiﬁtb
P

Answer: C

Question 12/ (
Sudha boug( 80 article:?( he same price. She sold some of them at 8% profit and the remaining at 12% loss resulting in an overall
profit of 6%. \I\1e\n‘1ilnﬁl3 items sold at 8% profit is:

4
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p 70 /

Answer: C

Download SSC General

Question 13

\
Two positive numbers differ by 2001, When the larger number is c&u‘de\dby the smaller number, the quotient is 9 and the remainder
is 41. The sum of the digits ofthe larger number is: ~ \

D 14

Answer: D

Question 14

The average of 18 numbers is 37.5. If sixinumbers of average X are added to them, then the average of all the numbers increases by
one, The value of x is:

A 40

B 41.5 / 3
C 42 @Q
D 385 \p

Answer: B \
Explanation:

s

Sum of the 18’ numbers = 37.5 $$\times 18 = 675
SU

(".~average

moftotalter
numberofterms')
"N

Sumofthe6n =6 X X=6X

Average of all the numbers =37.5+1 =38.5
675+6X

= 38.58$
675+ 6X =24 X 38.5

6X =924-675 =249
X=41.5

Question 15 Z \
) A
5 years ago, the ratio of the age of A to that of B was 4 : 5. Five years he| éZ'I‘ie ratio/of the-age of A to that of B will be 6 : 7. If, at
e

present, C is 10 years younger than B, then what will be the ratio of ty‘e nt‘{@ to that of C?
A 3:2 U\VE\\:
\

B 5:4 Q\ -

v
cC 4:3 N

\)*3’
£,
D 5.3 k /)
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Answer: B
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